
#0921/0923 Rock Sliders
Installation Instructions

TOOLS NEEDED:
Drill & Drill Bit Set Floor Jack or High Lift Jack
7/16” Wrench, or 7/16” Socket & Ratchet Phillips No. 2 Screwdriver

Do NOT coat/paint prior to install!  Mount completely, then remove to coat and reinstall.

NOTE: The nerfs on part #0921 are NOT designed to be used as a step to enter the vehicle. Using 
them in such a way may cause damage to both the rock sliders and the body of your Bronco.

If your quarter panels are cut for fender flares, you must cut the rock sliders to fit.

INSTALLATION:

1. Determine which slider is to be installed on the driver and passenger side. Each guard has a small
notch removed from the inboard side where it makes contact with the backside of the rocker panel.
This notch should be at the end closest to the front tire. The cutout is slightly oversized to allow for
adjustment of the slider front to back. 

2. Hold the slider up to the corresponding side. It is best to have a friend help for this step. The slider 
should fit snug, so some persuasion may be necessary. You can also use a floor jack or highlift jack 
to hold the slider in place. Make sure the slider is positioned to your liking; there is a small amount 
of adjustability available.

3. The forward-most hole is used to bolt the slider on with the 1/4”-20 x 1” bolt, oversize flat washer, 
and nyloc nut. The rear most hole also uses this hardware.

4. The rest of the outward facing predrilled holes in the rock slider use the round head sheet metal 
screws. The hex head sheet metal screws are for the bottom facing predrilled holes on the other 
side of the slider. Drill a small hole through the rocker panel to get the screws started. It may be 
necessary to remove or lower the secondary tank to make room to install the screws on the back 
side of the rocker.

5. Repeat steps 1-4 for mounting the other slider. Remove both rock sliders. Paint/coat and reinstall.

PARTS INCLUDED:
 2 - Rock Slider (side specific) 4 - Round Head Bolt, 1/4”-20 x 1”
 6 - Round Head Sheet Metal Screws, 1/4” x 0.75” 4 - Nyloc Nuts, 1/4”-20
10 - Hex Head Sheet Metal Screws, 1/4” x 0.75” 4 - Flat Washers, 1/4” x 1.5” OD

www.TOMSOFFROAD.com 541.779.1339


